@ a®+ 2ab+ b? = (a + b)?
© @ -2ab+b* = (a—b)?
© a®>-b?>=(a+b)(a-D)
® X+ (a+b)x+ab=(x+a)(x+b)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)
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4. x+39°x2-x+a9 AL W, a9 F2?

@-12 @ 03 @4 ® 12

B

x+30lx2-x+af dFolBR2 2 —x+a=(x+3)(x+0DO)
= J2sf H

FHA x+3=022 5h= x 3 -3 S HUsHA
(=3)2=(-3)+a=0

Sa=-12




5.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)
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7. 0<x<79u, Vx2-16x+ 64— Vx2 + 10x + 25 = 7+t
@—2x+3 @ 2x+1 ® -2x-5
@ 3x-1 ® -3x+1

&8

Va2 — 16x + 64 — Vx2 + 10x + 25
= J&-92- /x+5)?

— |x— 8 - x +5|




® 2x24+7x+6

® 3x2+Tx+2
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BFE AN Dol HolA o] AL ZEste] x o] A50k A
b2 Hho] W)t AJshs @50 L ES B3 WY|E Seit

£ Wt sto] 9% 2ok SHAE (x-2) (r-3)
Zhubgieh A AN 2ol FA o] RHAS vk A Q1% Refl

O x+1)(x+2) @ x+1)x+3) @ (x+1)(x+4)

@(x+1)(x+5) ® (x+1)(x+6)

¥ =bx+6—>x2+5x+6>x>+6x+5—> (x+1)(x+5)
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ol

O x+3 @ x+2

@2x

® 2x+3

3)2+6(x—3)+82 xo A7F1¢ F

dxpale] oz Qi

® 3x+2

=x-3+4)(x-3+2)
=(x+1)(x-1)
S+ +(x-1)=2x




D)-16 @ -4 ® 2 @ 8

® 12

x*+8x=A 2t otH

(x> +8x+T7)(x2 +8x+15)—p
=(A+7)(A+15)-p

= A2+ 22A+105-p= (A +11)2
2105 - p =121

sop=-16




12. 2] xy+bx—ay—ab = AFE3|SHH?

D (x-a)y-b) @E-ab+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x-b)(y-a)




13. ¥ —dxy+4y* - 22 & AEsfished AHgH Ad-2sh
)

T2 (Fa>0,b>0

® a* +2ab + b = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a?-1* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

x2 —4dxy + 4y% - 22
=(x-2y)2-2> = a®-2ab +b* = (a-b)?
= (x=2y+2)(x~2y-2) a’ - b* = (a + b)(a~b)




14. &®>+2ab+b? -a-bE AFEISHH?

® (a+b)(a+b+1) @ (a-b)(a+b-1)
® (a=b)(a-b-2) @ a+b)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?*-(a+b)=(a+b)la+b-1)




15, ax®+24x+b = (3x+c)* LW, F5a, b, ¢ & #2222 5137

D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4

B ~

(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14




16. x of T3t o] AFA 12x2 + kx — 7 © T3}
HAGS Fotofet

> E:

> =gh: 83

Q155 g A

(x+7)(12x - 1) = 12x* + 83x - 7




17.

7420] Zolhxy+ 19 AXZIE] Wol7k a2 4 42 4 24y x—y-2
A o, o] ZAAAF ] Eo] dol=ax+bx+cOlth a+b+c Y
= oA L.

» =

> H e a+b4+c=6

B \

Py 42y -x-y-2=(x+y)2 - (x+y) -2
x+y=X= 549

X2-X-2=(X+1)(X-2)

oA A2o] Aol x+y-20]|B2

Edo dolE2(x+y+ 1+ x+y-2) =4x+4y-2 °Jth.
2 a+ b+ c =6 °|h




18. [a, b, o] = (a=b)(a=c)=t & W, [a, b, |- [b, a, ] T A3,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
A0

@ -1 @ 3 (@)0 @ 2 © -2

B

(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0




19. (a-b+3)%=(a+b+3)* S s g HL?

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)




20.

© dr13 @4x ® 4x-13
@ 2x*>-13 B 242 +5

X~ 1822 4 36= (x2 = 9)(x" ~4)
=(x+3)(x-3)(x+2)(x-2)
- (PR ASE )

—x+34+x—-3+x+2+x—2=4x




21. A=4x+2, B=6x>-5x—-40°]a
o g o2

=ax+b 2 HEIW o] A |, ab

|

@3 @5 -1 @-8 @ ©-9

B \

B 6x2-5x—4
A 4x+2
_ (2x+1)(3x—-4)
4x + 2
_ (2x+1)(3x—4)
2(2x+ 1)
-4
:3x2 —ax—+b
3 4
=—’b=——=—2
=3 2
3
Lab =" x(-2) = -3
a 2)(( )




22. /3333333333 - 66666 <] ZHS L5todet

> E

[> ®Eh: 3333343

B

33333 =q 2 oW
3333333333 = a x 10° + a |11
66666 = 2a °| L&
. V3333333333 — 66666
= /(ax10%) +a-2a
= @~ 1)
= Va x 99999
= V3x 11111 x 32 x 11111
= 33333V3
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a?-2ab+b2=9, 6ab+2=-4, a>b

® 1 @ ® 9 @16 2%

B ~

a?-2ab+b*=9, 6ab+2= -4, a> b oA
ab=-1,a>+b2 =7
(a-b)??=a*+b*-2ab=T7+2=9
La-b=3

s(a=-b-1)2
=a?+b?>+1-2a+2b-2ab
=7+1-2x3+2=4




24. ¢= Vi-2a-3b L W, 4a% + 9% + % + 12ab + 6bc + 4ca O] &
ERRES

> &

> Heh: 4

. ~
c=Vi-2a-3b A 2a+3b+c= Vi
- 4a® 4 9b? + ¢ + 12ab — 6bc — 4ca
= (2a)* + (3b)? + 2
+ 2(2a)(3b) + 2(3b)(—c) + 2(—c)(2a)
= (2a + 3b - c)?
— (VA =4




25. Wwoly

N
-
=

2-3y+1 Q1 A5AA| O] K7} x¥4-2x% -3xy+x-6y+2

A4)0] %017 ax + b OIth. a+ b O GLE FHA L.

X3 +2x2 - 3xy +x—6y+2
=x2(x+2)-3y(x+2) +x+2
=(x+2)(x>-3y+1)

et a=1, h=20]22
a+b=3o|t}




